# COMMON FIXED POINT THEOREM FOR FOUR MAPPINGS SATISFYING GENERALIZED WEAK CONTRACTIVE CONDITION 

Mujahid Abbas and Dragan Đorić


#### Abstract

Contractive conditions introduced in [Q. Zhang and Y. Song, Fixed point theory for generalized $\varphi$-weak contraction, Appl. Math. Lett. 22(2009), 75-78] and [D. Đorić, Common fixed point for generalized $(\psi, \varphi)$-weak contractions, Applied Mathematics Letters, 22(2009), 1896-1900] are employed to obtain a new common fixed point theorem for four maps. Our result substantially generalizes comparable results in the literature.


## 1 Introduction and preliminaries

Alber and Guerre-Delabriere [1] defined weakly contractive maps on a Hilbert space and established a fixed point theorem for such map. Afterwards, Rhoades [8] using the notion of weakly contractive maps, obtained a fixed point theorem in a complete metric space. Dutta and Choudhury [5] generalized the weak contractive condition and proved a fixed point theorem for a selfmap, which in turn generalizes Theorem 1 in [8] and the corresponding result in [1]. The study of common fixed points of mappings satisfying certain contractive conditions has been at the center of vigorous research activity. The area of common fixed point theory, involving four single valued maps, began with the assumption that all of the maps are commuted. Introducing weakly commuting maps, Sessa [9] generalized the concept of commuting maps. Then Jungck generalized this idea, first to compatible mappings [11] and then to weakly compatible mappings [12]. There are examples that show that each of these generalizations of commutativity is a proper extension of the previous definition. On the other hand, Beg and Abbas [3] obtained a common fixed point theorem extending weak contractive condition for two maps. In this direction, Zhang and Song [13] introduced the concept of a generalized $\varphi$-weak contraction

[^0]condition and obtained a common fixed point for two maps. Recently, Đorić [4] proved a common fixed point theorem for generalized $(\psi, \varphi)$-weak contractions.

The purpose of this paper is to obtain a common fixed point theorem for four maps that satisfy contractive condition which is more general than that given in [13]. Our result extend, unify and generalize the comparable results in [3], [4], [5] and [13].

Throughout this paper $X$ is nonempty set, $(X, d)$ is a metric space and $f: X \rightarrow$ $X$ is selfmapping on $X$. A point $x \in X$ is called fixed point of $f$ if $f(x)=x$. To state our result we need definition of weakly compatible pair of maps.

Definition 1.1. Let $f$ and $g$ be selfmappings on $X$.
(1) A point $u \in X$ is coincidence point of $f$ and $g$ if $f u=g u$,
(2) A pair of $f$ and $g$ is called weakly compatible pair if they commute at coincidence points.

We also use two classes of functions,
$\Phi=\{\varphi \mid \varphi:[0, \infty) \rightarrow[0, \infty)$ is lower semi continuous, $\varphi(t)>0$ for all $t>0$, $\varphi(0)=0\}$,
$\Psi=\{\psi \mid \psi:[0, \infty) \rightarrow[0, \infty)$ is continuous and nondecreasing with $\psi(t)=0$ if and only if $t=0\}$.

## 2 Main theorem

Following is the main result of this paper.
Theorem 2.1. Suppose that $f, g, S$ and $T$ are selfmaps of a complete metric space $(X, d), f(X) \subseteq T(X), g(X) \subseteq S(X)$ and that the pairs $\{f, S\}$ and $\{g, T\}$ are weakly compatible. If

$$
\begin{equation*}
\psi(d(f x, g y)) \leq \psi(M(x, y))-\varphi(M(x, y)) \tag{1}
\end{equation*}
$$

for each $x, y \in X$, where $\varphi \in \Phi, \psi \in \Psi$ and where

$$
\begin{equation*}
M(x, y)=\max \left\{d(S x, T y), d(f x, S x), d(g y, T y), \frac{1}{2}(d(S x, g y)+d(f x, T y))\right\} \tag{2}
\end{equation*}
$$

then $f, g, S$ and $T$ have a unique common fixed point in $X$ provided one of the ranges $f(X), g(X), S(X)$ and $T(X)$ is closed.

Proof. Let $x_{0}$ be an arbitrary point in $X$. Choose a point $x_{1} \in X$ such that $y_{0}=f x_{0}=T x_{1}$. This can be done, since the range of $T$ contains the range of $f$. Similarly, a point $x_{2} \in X$ can be chosen such that $y_{1}=g x_{1}=S x_{2}$ as $g(X) \subseteq S(X)$. Continuing this process, we obtain a sequence $\left\{y_{n}\right\}$ in $X$ such that $y_{2 n}=f x_{2 n}=$ $T x_{2 n+1}$ and $y_{2 n+1}=g x_{2 n+1}=S x_{2 n+2}$.

First, we show that $\left\{y_{n}\right\}$ is a Cauchy sequence in $X$. Consider two cases.

1. If for some $n, y_{n}=y_{n+1}$, then $y_{n+1}=y_{n+2}$. If not, then for $n=2 m$, where $m \in Z^{+}$, we have

$$
\begin{aligned}
M\left(x_{2 m+2}, x_{2 m+1}\right)= & \max \left\{d\left(S x_{2 m+2}, T x_{2 m+1}\right), d\left(f x_{2 m+2}, S x_{2 m+2}\right)\right. \\
& d\left(g x_{2 m+1}, T x_{2 m+1}\right) \\
& \left.\frac{1}{2}\left(d\left(S x_{2 m+2}, g x_{2 m+1}\right)+d\left(f x_{2 m+2}, T x_{2 m+1}\right)\right)\right\} \\
= & \max \left\{d\left(y_{2 m+1}, y_{2 m}\right), d\left(y_{2 m+2}, y_{2 m+1}\right), d\left(y_{2 m+1}, y_{2 m}\right),\right. \\
& \left.\frac{1}{2}\left(d\left(y_{2 m+1}, y_{2 m+1}\right)+d\left(y_{2 m+2}, y_{2 m}\right)\right)\right\} \\
= & \max \left\{d\left(y_{2 m+2}, y_{2 m+1}\right), \frac{1}{2} d\left(y_{2 m+2}, y_{2 m}\right)\right\} \\
= & d\left(y_{2 m+2}, y_{2 m+1}\right) .
\end{aligned}
$$

From (1)

$$
\begin{aligned}
\psi\left(d\left(y_{n+2}, y_{n+1}\right)\right) & =\psi\left(d\left(y_{2 m+2}, y_{2 m+1}\right)\right) \\
& =\psi\left(d\left(f x_{2 m+2}, g x_{2 m+1}\right)\right) \\
& \leq \psi\left(\left(M\left(x_{2 m+2}, x_{2 m+1}\right)\right)-\varphi\left(M\left(x_{2 m+2}, x_{2 m+1}\right)\right)\right. \\
& =\psi\left(\left(d\left(y_{2 m+2}, y_{2 m+1}\right)\right)-\varphi\left(d\left(y_{2 m+2}, y_{2 m+1}\right)\right)\right. \\
& <\psi\left(d\left(y_{2 m+2}, y_{2 m+1}\right)\right),
\end{aligned}
$$

which is a contradiction. Hence we must have $y_{n+1}=y_{n+2}$, when $n$ is even. By similar arguments we can show that this equality holds also when $n$ is odd. Therefore, in any case for all those $n$ for which $y_{n}=y_{n+1}$ holds, we always obtain $y_{n+1}=y_{n+2}$. Repeating above process inductively, one obtains $y_{n}=y_{n+k}$, for all $k \geq 1$. Therefore, in this case $\left\{y_{n}\right\}$ turns out to be eventually a constant sequence and hence a Cauchy one.
2. If $y_{n} \neq y_{n+1}$, for every positive integer $n$, then for $n=2 m+1$, for some $m \in Z^{+}$,

$$
\begin{aligned}
M\left(x_{2 m+2}, x_{2 m+1}\right)= & \max \left\{d\left(S x_{2 m+2}, T x_{2 m+1}\right), d\left(f x_{2 m+2}, S x_{2 m+2}\right)\right. \\
& d\left(g x_{2 m+1}, T x_{2 m+1}\right), \\
& \left.\frac{1}{2}\left(d\left(S x_{2 m+2}, g x_{2 m+1}\right)+d\left(f x_{2 m+2}, T x_{2 m+1}\right)\right)\right\} \\
= & \max \left\{d\left(y_{2 m+1}, y_{2 m}\right), d\left(y_{2 m+2}, y_{2 m+1}\right), d\left(y_{2 m+1}, y_{2 m}\right),\right. \\
& \left.\frac{1}{2}\left(d\left(y_{2 m+1}, y_{2 m+1}\right)+d\left(y_{2 m+2}, y_{2 m}\right)\right)\right\} \\
= & \max \left\{d\left(y_{2 m+1}, y_{2 m}\right), d\left(y_{2 m+2}, y_{2 m+1}\right)\right. \\
& \left.\frac{1}{2}\left(d\left(y_{2 m}, y_{2 m+1}\right)+d\left(y_{2 m+1}, y_{2 m+2}\right)\right)\right\} \\
= & \max \left\{d\left(y_{2 m+1}, y_{2 m}\right), d\left(y_{2 m+2}, y_{2 m+1}\right)\right\} .
\end{aligned}
$$

Now if $M\left(x_{2 m+2}, x_{2 m+1}\right)=d\left(y_{2 m+2}, y_{2 m+1}\right)$, then

$$
\begin{aligned}
\psi\left(d\left(y_{n+1}, y_{n}\right)\right) & =\psi\left(d\left(f x_{n+1}, g x_{n+2}\right)\right) \\
& \leq \psi\left(M\left(x_{n+1}, x_{n}\right)\right)-\varphi\left(M\left(x_{n+1}, x_{n}\right)\right) \\
& =\psi\left(M\left(x_{2 m+2}, x_{2 m+1}\right)\right)-\varphi\left(M\left(x_{2 m+2}, x_{2 m+1}\right)\right) \\
& =\psi\left(d\left(y_{2 m+2}, y_{2 m+1}\right)\right)-\varphi\left(d\left(y_{2 m+2}, y_{2 m+1}\right)\right) \\
& =\psi\left(d\left(y_{n+1}, y_{n}\right)\right)-\varphi\left(d\left(y_{n+1}, y_{n}\right)\right) \\
& <\psi\left(d\left(y_{n+1}, y_{n}\right)\right)
\end{aligned}
$$

gives a contradiction. Therefore

$$
\begin{equation*}
M\left(x_{2 m+2}, x_{2 m+1}\right)=d\left(y_{2 m+1}, y_{2 m}\right) \tag{3}
\end{equation*}
$$

Hence from (1), we obtain

$$
\begin{aligned}
\psi\left(d\left(y_{n+1}, y_{n}\right)\right) & =\psi\left(d\left(f x_{n+1}, g x_{n+2}\right)\right) \\
& \leq \psi\left(M\left(x_{n+1}, x_{n}\right)\right)-\varphi\left(M\left(x_{n+1}, x_{n}\right)\right) \\
& =\psi\left(M\left(x_{2 m+2}, x_{2 m+1}\right)\right)-\varphi\left(M\left(x_{2 m+2}, x_{2 m+1}\right)\right) \\
& =\psi\left(d\left(y_{2 m+1}, y_{2 m}\right)\right)-\varphi\left(d\left(y_{2 m+1}, y_{2 m}\right)\right) \\
& =\psi\left(d\left(y_{n}, y_{n-1}\right)\right)-\varphi\left(d\left(y_{n}, y_{n-1}\right)\right) \\
& <\psi\left(d\left(y_{n}, y_{n-1}\right)\right)
\end{aligned}
$$

Following the similar arguments to those given above, we conclude the same inequality when $n$ is taken as even integer. Consequently, we have

$$
\psi\left(d\left(y_{n+1}, y_{n}\right)\right)<\psi\left(d\left(y_{n}, y_{n-1}\right)\right), \text { for all } n \geq 0
$$

which further implies that $d\left(y_{n+1}, y_{n}\right) \leq d\left(y_{n}, y_{n-1}\right)$. Therefore $\left\{d\left(y_{n+1}, y_{n}\right)\right\}$ is monotone decreasing sequence which is bounded below by 0 . By theorem of monotone and bounded sequence there exists $r \geq 0$ such that $d\left(y_{n+1}, y_{n}\right) \rightarrow r$ as $n \rightarrow \infty$. From equation (2), for $x=x_{n+1}$ and $y=x_{n}$ we obtain,

$$
\begin{equation*}
\lim _{n \rightarrow \infty} \psi\left(M\left(x_{n+1}, x_{n}\right)\right)=\psi(r) \tag{4}
\end{equation*}
$$

Now (1), (4) and lower semicontinuity of $\varphi$ give

$$
\limsup _{n \rightarrow \infty} \psi\left(d\left(y_{n+1}, y_{n}\right)\right) \leq \limsup _{n \rightarrow \infty} \psi\left(M\left(x_{n+1}, x_{n}\right)\right)-\liminf _{n \rightarrow \infty} \varphi\left(M\left(x_{n+1}, x_{n}\right)\right)
$$

which implies that $\psi(r) \leq \psi(r)-\varphi(r)$. Therefore $r=0$, and

$$
\begin{equation*}
\lim _{n \rightarrow \infty} d\left(y_{n+1}, y_{n}\right)=0 \tag{5}
\end{equation*}
$$

Because of (5), to show $\left\{y_{n}\right\}_{n \geq 1}$ to be a Cauchy sequence in $X$, it is sufficient to show that $\left\{y_{2 n}\right\}_{n \geq 1}$ is Cauchy in $X$. If not, there is an $\varepsilon>0$, and there exists
even integers $2 m_{k}$ and $2 n_{k}$ with $2 m_{k}>2 n_{k}>k$ such that $d\left(y_{2 m_{k}}, y_{2 n_{k}}\right) \geq \varepsilon$ and $d\left(y_{2 m_{k}-2}, y_{2 n_{k}}\right)<\varepsilon$. Now (5) and inequality

$$
\begin{aligned}
\varepsilon & \leq d\left(y_{2 m_{k}}, y_{2 n_{k}}\right) \\
& \leq d\left(y_{2 n_{k}}, y_{2 m_{k}-2}\right)+d\left(y_{2 m_{k}-1}, y_{2 m_{k}-2}\right)+d\left(y_{2 m_{k}-1}, y_{2 m_{k}}\right)
\end{aligned}
$$

implies that

$$
\begin{equation*}
\lim _{k \rightarrow \infty} d\left(y_{2 m_{k}}, y_{2 n_{k}}\right)=\varepsilon . \tag{6}
\end{equation*}
$$

Also, (5) and inequality

$$
d\left(y_{2 m_{k}}, y_{2 n_{k}}\right) \leq d\left(y_{2 m_{k}}, y_{2 m_{k}+1}\right)+d\left(y_{2 m_{k}+1}, y_{2 n_{k}}\right)
$$

gives that $\varepsilon \leq \lim _{k \rightarrow \infty} d\left(y_{2 m_{k}+1}, y_{2 n_{k}}\right)$, while (5) and inequality

$$
d\left(y_{2 m_{k}+1}, y_{2 n_{k}}\right) \leq d\left(y_{2 m_{k}+1}, y_{2 m_{k}}\right)+d\left(y_{2 m_{k}}, y_{2 n_{k}}\right)
$$

yields $\lim _{k \rightarrow \infty} d\left(y_{2 m_{k}+1}, y_{2 n_{k}}\right) \leq \varepsilon$. Hence

$$
\begin{equation*}
\lim _{k \rightarrow \infty} d\left(y_{2 m_{k}+1}, y_{2 n_{k}}\right)=\varepsilon . \tag{7}
\end{equation*}
$$

By the similar way we obtain

$$
\begin{equation*}
\lim _{k \rightarrow \infty} d\left(y_{2 m_{k}}, y_{2 n_{k}-1}\right)=\lim _{k \rightarrow \infty} d\left(y_{2 n_{k}-1}, y_{2 m_{k}+1}\right)=\varepsilon . \tag{8}
\end{equation*}
$$

Now from definition of $M$ (equation (2)) and from (5), (6), (7), (8) we have

$$
\begin{aligned}
& M\left(x_{2 n_{k}}, x_{2 m_{k}+1}\right)=\max \left\{d\left(S x_{2 n_{k}}, T x_{2 m_{k}+1}\right), d\left(f x_{2 n_{k}}, S x_{2 n_{k}}\right),\right. \\
& d\left(g x_{2 m_{k}+1}, T x_{2 m_{k}+1}\right), \\
&\left.\frac{1}{2}\left(d\left(S x_{2 n_{k}}, g x_{2 m_{k}+1}\right)+d\left(f x_{2 n_{k}}, T x_{2 m_{k}+1}\right)\right)\right\} \\
&=\max \left\{d\left(y_{2 n_{k}-1}, y_{2 m_{k}}\right), d\left(y_{2 n_{k}}, y_{2 n_{k}-1}\right),\right. \\
& d\left(y_{2 m_{k}+1}, y_{2 m_{k}}\right), \frac{1}{2}\left(d\left(y_{2 n_{k}-1}, y_{2 m_{k}+1}\right)+\right. \\
&\left.\left.d\left(y_{2 n_{k}}, y_{2 m_{k}}\right)\right)\right\} .
\end{aligned}
$$

Thus

$$
\lim _{k \rightarrow \infty} M\left(x_{2 n_{k}}, x_{2 m_{k}+1}\right)=\max \left\{\varepsilon, 0,0, \frac{1}{2}(\varepsilon+\varepsilon)\right\}=\varepsilon .
$$

Putting $x=x_{2 n_{k}}$ and $y=x_{2 m_{k}+1}$ in (1) we obtain

$$
\begin{aligned}
\psi\left(d\left(y_{2 n_{k}}, y_{2 m_{k}+1}\right)\right) & =\psi\left(d\left(f x_{2 n_{k}}, g x_{2 m_{k}+1}\right)\right) \\
& \leq \psi\left(M\left(x_{2 n_{k}}, x_{2 m_{k}+1}\right)\right)-\varphi\left(M\left(x_{2 n_{k}}, x_{2 m_{k}+1}\right)\right)
\end{aligned}
$$

which, on taking limit as $k \rightarrow \infty$, implies that

$$
\begin{equation*}
\psi(\varepsilon) \leq \psi(\varepsilon)-\varphi(\varepsilon) \tag{9}
\end{equation*}
$$

As (9) is a contradiction with $\varepsilon>0$, it follows that $\left\{y_{2 n}\right\}_{n \geq 1}$ is a Cauchy sequence in $X$. Since $X$ is complete, there exists, a point $z \in X$ such that $\lim _{n \rightarrow \infty} y_{n}=z$.

The second step of proof is to show that $z$ is the fixed point for maps $f$ and $S$. It is clear that

$$
\lim _{n \rightarrow \infty} y_{2 n}=\lim _{n \rightarrow \infty} f x_{2 n}=\lim _{n \rightarrow \infty} T x_{2 n+1}=z
$$

and

$$
\lim _{n \rightarrow \infty} y_{2 n+1}=\lim _{n \rightarrow \infty} g x_{2 n+1}=\lim _{n \rightarrow \infty} S x_{2 n+2}=z
$$

Assuming $S(X)$ is closed, there exists $u \in X$ such that $z=S u$. We claim that $f u=z$. If not, then

$$
\begin{aligned}
M\left(u, x_{2 n+1}\right)= & \max \left\{d\left(S u, T x_{2 n+1}\right), d(f u, S u), d\left(g x_{2 n+1}, T x_{2 n+1}\right),\right. \\
& \left.\frac{1}{2}\left(d\left(S u, g x_{2 n+1}\right)+d\left(f u, T x_{2 n+1}\right)\right)\right\} \\
= & \max \left\{d\left(z, T x_{2 n+1}\right), d(f u, z), d\left(g x_{2 n+1}, T x_{2 n+1}\right)\right. \\
& \left.\frac{1}{2}\left(d\left(z, g x_{2 n+1}\right)+d\left(f u, T x_{2 n+1}\right)\right)\right\} \\
& \rightarrow d(f u, z)
\end{aligned}
$$

as $n \rightarrow \infty$. From (1),

$$
\psi\left(d\left(f u, g x_{2 n+1}\right)\right) \leq \psi\left(M\left(u, x_{2 n+1}\right)\right)-\varphi\left(M\left(u, x_{2 n+1}\right)\right)
$$

which, on taking limit as $n \rightarrow \infty$ implies that

$$
\psi(d(f u, z)) \leq \psi(d(f u, z))-\varphi(d(f u, z))
$$

a contradiction with $d(f u, z)>0$. Hence $f u=z$. Therefore $f u=S u=z$. Since the maps $f$ and $S$ are weakly compatible, we have $f z=f S u=S f u=S z$. Next we claim that $f z=z$. If not, then

$$
\begin{aligned}
M\left(z, x_{2 n+1}\right)= & \max \left\{d\left(S z, T x_{2 n+1}\right), d(f z, S z), d\left(g x_{2 n+1}, T x_{2 n+1}\right),\right. \\
& \left.\frac{1}{2}\left(d\left(S z, g x_{2 n+1}\right)+d\left(f z, T x_{2 n+1}\right)\right)\right\} \\
= & \max \left\{d\left(f z, T x_{2 n+1}\right), d(f z, f z), d\left(g x_{2 n+1}, T x_{2 n+1}\right)\right. \\
& \left.\frac{1}{2}\left(d\left(f z, g x_{2 n+1}\right)+d\left(f z, T x_{2 n+1}\right)\right)\right\} \\
& \rightarrow d(f z, z)(n \rightarrow \infty)
\end{aligned}
$$

and again by (1)

$$
\psi\left(d\left(f z, g x_{2 n+1}\right)\right) \leq \psi\left(M\left(z, x_{2 n+1}\right)\right)-\varphi\left(M\left(z, x_{2 n+1}\right)\right)
$$

which, on taking limit as $n \rightarrow \infty$ gives the contradiction

$$
\psi(d(f z, z)) \leq \psi(d(f z, z))-\varphi(d(f z, z))
$$

Therefore $f z=z$.
The next step is to show that $z$ is also fixed point for maps $g$ and $T$. Since $f(X) \subseteq T(X)$, there is some $v$ in $X$ such that $f z=T v$. Then $f z=T v=S z=z$. We claim that $g v=z$. If $g v \neq z$, then from (1) we have

$$
d(z, g v)=d(f z, g v) \leq \psi(M(z, v))-\varphi(M(z, v))
$$

where

$$
\begin{aligned}
M(z, v) & =\max \left\{d(S z, T v), d(f z, S z), d(g v, T v), \frac{1}{2}(d(S z, g v)+d(f z, T v))\right\} \\
& =d(g v, z)
\end{aligned}
$$

Thus

$$
\psi(d(z, g v)) \leq \psi(d(z, g v))-\varphi(d(z, g v))
$$

gives a contradiction. Therefore $z=g v$. Hence $g v=T v=z$. By weak compatibility of mappings $g$ and $T$ we obtain $g z=g T v=T T v=T z$. Finally, we claim that $g z=z$. If $g z \neq z$, then by (1)

$$
\psi(d(z, g z))=\psi(d(f z, g z)) \leq \psi(M(z, z))-\varphi(M(z, z))
$$

where

$$
\begin{aligned}
M(z, z) & =\max \left\{d(S z, T z), d(f z, S z), d(g z, T z), \frac{1}{2}(d(S z, g z)+d(f z, T z))\right\} \\
& =d(z, g z)
\end{aligned}
$$

Therefore

$$
\psi(d(z, g z)) \leq \psi(d(z, g z))-\varphi(d(z, g z))
$$

gives a contradiction. Hence, $f z=g z=S z=T z=z$. Similar analysis is valid for the case in which $T(X)$ is closed, as well as for the cases in which $f(X)$ or $g(X)$ is closed, since $f(X) \subseteq T(X)$ and $g(X) \subseteq S(X)$.

As uniqueness of common fixed point $z$ easily follows from the inequality (1), the proof is completed.

Now we give an example to support our result.
Example 2.1. Let $X=[0,1]$ with the usual metric. Define $f, g, S$ and $T$ on $X$ by

$$
\begin{aligned}
& f x=\left\{\begin{array}{cc}
\frac{1}{2}, & 0 \leq x<1 \\
1, & x=1
\end{array}, \quad g x=\left\{\begin{array}{ll}
\frac{1}{2}, & 0 \leq x \leq \frac{1}{2} \\
1, & \frac{1}{2}<x \leq 1
\end{array},\right.\right. \\
& S x=\left\{\begin{array}{cc}
0, & 0 \leq x<\frac{1}{2} \\
\frac{1}{2}, & x=\frac{1}{2} \\
\frac{2}{3}, & \frac{1}{2}<x \leq \frac{2}{3} \\
1, & \frac{2}{3}<x \leq 1
\end{array}, \quad T x=\left\{\begin{array}{cc}
1, & 0 \leq x<\frac{1}{2} \\
\frac{1}{2}, & x=\frac{1}{2} \\
\frac{1}{10}, & \frac{1}{2}<x \leq \frac{2}{3} \\
0, & \frac{2}{3}<x \leq 1
\end{array}\right.\right.
\end{aligned}
$$

and $\varphi, \psi:[0, \infty) \rightarrow[0, \infty)$ by $\varphi(t)=\frac{1}{10} t^{2}$ and $\psi(t)=\sqrt{t}$. Then $\varphi \in \Phi$ and $\psi \in \Psi$. Obviously, $f(X) \subseteq T(X)$ and $g(X) \subseteq S(X)$. Furthermore the pairs $\{f, S\}$, and $\{g, T\}$ are weakly compatible and satisfy (1). Thus $f, g, S$, and $T$ satisfy the conditions given in Theorem 2.1 and $\frac{1}{2}$ is the unique common fixed point of $f, g, S$, and $T$.

Special cases of the theorem 2.1 give results obtained earlier in different papers.
Corolary 2.1. ([4]) Let $(X, d)$ be a complete metric space and let $f, g: X \rightarrow X$ be two mappings such that

$$
\psi(d(f x, g y)) \leq \psi(M(x, y))-\varphi(M(x, y)), \text { for all } x, y \in X
$$

where $\varphi \in \Phi, \psi \in \Psi$ and

$$
M(x, y)=\max \left\{d(x, y), d(f x, x), d(g y, y), \frac{1}{2}(d(x, g y)+d(f x, y))\right\}
$$

Then there exists a unique point $u \in X$ such that $u=f u=g u$.
Proof. If we take $S$ and $T$ as identity maps on $X$, then from Theorem 2.1 follows that $f$ and $g$ have a unique common fixed point.

Corolary 2.2. ( [13]) Let $(X, d)$ be a complete metric space and let $f, g: X \rightarrow X$ be two mappings such that for all $x, y \in X$

$$
d(f x, g y) \leq M(x, y)-\varphi(M(x, y))
$$

where $\varphi \in \Phi$ and

$$
M(x, y)=\max \left\{d(x, y), d(f x, x), d(g y, y), \frac{1}{2}(d(x, g y)+d(f x, y))\right\}
$$

Then $f$ and $g$ have a unique common fixed point.
Proof. If we take $S$ and $T$ as identity maps on $X$ and $\psi(t)=t$ for $t \in[0, \infty)$, then from Theorem 2.1 follows that $f$ and $g$ have a unique common fixed point.

Corolary 2.3. ([4]) Let $(X, d)$ be a complete metric space and let $f: X \rightarrow X$ be a mapping such that for all $x, y \in X$

$$
\psi(d(f x, f y)) \leq \psi(M(x, y))-\varphi(M(x, y))
$$

where $\varphi \in \Phi$ and

$$
M(x, y)=\max \left\{d(x, y), d(f x, x), d(f y, y), \frac{1}{2}(d(x, f y)+d(f x, y))\right\}
$$

Then $f$ has a unique fixed point in $X$.

Example 2.2. Let $X=[0,1] \cup\left[\frac{3}{2}, 2\right]$ with the usual metric and let self map $f$ on $X$ be defined as follows:

$$
f x=\left\{\begin{array}{ll}
\frac{3}{4}, & 0 \leq x \leq 1 \\
\frac{1}{4}, & \frac{3}{2} \leq x \leq 2
\end{array} .\right.
$$

If we take $\psi(t)=t$ and $\varphi(t)=\frac{1}{4} t$ for $t \in[0, \infty)$, then all conditions of Corollary 2.3 are satisfied and $f$ has a unique fixed point $\frac{3}{4}$. Note that if we take $x=1$ and $y=\frac{3}{2}$, then for any choice of functions $\psi$ and $\phi$, mapping $f$ does not satisfy the contractive condition given in [5].
Corolary 2.4. ([13]) Let $(X, d)$ be a complete metric space and let $f: X \rightarrow X$ be a mapping such that for all $x, y \in X$

$$
d(f x, f y) \leq M(x, y)-\varphi(M(x, y)),
$$

where $\varphi \in \Phi$ and

$$
M(x, y)=\max \left\{d(x, y), d(f x, x), d(f y, y), \frac{1}{2}(d(x, f y)+d(f x, y))\right\}
$$

Then $f$ has a unique fixed point in $X$.

## References

[1] Ya. I. Alber and S. Guerre-Delabriere, "Principle of weakly contractive maps in Hilbert spaces" in New Results in Operator Theory and Its Applications, I. Gohberg and Y. Lyubich, Eds., vol. 98 of Operator Theory: Advances and Applications, 7-22, Birkhäuser, Basel, Switzerland, 1997.
[2] M. A. Al-Thagafi and N. Shahzad, Noncommuting self maps and invariant approximations, Nonlinear analysis, 64 (2006), 2778-2786
[3] I. Beg and M. Abbas, Coincidence point and invariant approximation for mapping satisfying generalized weak contractive condition, Fixed Point Theory and Applications, vol. 2006, Article ID 74503, 7 pages, 2006.
[4] D. Đorić, Common fixed point for generalized $(\psi, \varphi)$-weak contractions, Applied Mathematics Letters, 22 (2009), 1896-1900.
[5] P. N. Dutta and B. S. Choudhury, A generalization of contraction principle in metric spaces, Fixed Point Theory and Applications, vol. 2008, Article ID 406368, 8 pages.
[6] N. Hussain and G. Jungck, Common fixed point and invariant approximation for noncommuting generalized $(f, g)$-nonexpansive maps, J. Math. Anal. Appl., 321 (2006), 851-861.
[7] M. S. Khan, M. Swaleh, and S. Sessa, Fixed point theorems by altering distances between the points, Bull. Aust. Math. Soc., 30(1) (1984), 1-9.
[8] B. E. Rhoades, Some theorems on weakly contractive maps, Nonlinear Analysis, 47 (2001), 2683-2693.
[9] S. Sessa, On a weak commutativity condition of mappings in fixed point consideration, Publ. Inst. Math. Soc., 32 (1982), 149-153.
[10] N. Shahzad, Invariant Approximations, generalized I-contractions and Rweakly commuting maps, Fixed Point theory Applications, 1 (2005), 79-86.
[11] G. Jungck, Compatible mappings and common fixed points, Int. J. Math. Math. Sci., 9(4) (1986), 771-779.
[12] G. Jungck, Common fixed points for noncontinuous nonself maps on non-metric spaces, Far East J. Math. Sci., 4 (1996), 199-215.
[13] Q. Zhang and Y. Song, Fixed point theory for generalized $\varphi$ - weak contractions, Applied Mathematics Letters, 22 (2009), 75-78.

Mujahid Abbas:
Centre for Advanced Studies in Mathematics and Department of Mathematics, Lahore University of Management Sciences, 54792-Lahore, Pakistan

E-mail: mujahid@lums.edu.pk
Dragan Đorić:
Faculty of Organizational Sciences, University of Belgrade, 11000 Beograd, Jove Ilića 154, Serbia

E-mail: djoricd@fon.rs


[^0]:    2010 Mathematics Subject Classifications. 47H10.
    Key words and Phrases. Common fixed point, generalized weak contractive condition, weakly compatible maps, lower semicontinous functions.

    Received: November 19, 2009
    Communicated by: Vladimir Rakočević

